FA2E AR P IAERFRTRR
#1R:2018410A 3R

BFRE—E

BRGNS EE SN ERE RS
AR #H B 13 214 3tk 4t 5% 35 74 8fi
10/03 ];*;f% st =) 129|EBE FEW 13.3|FHE EXW) 133|1MM () 13.4| K@ BESR() 13.8| E3R —=2H(1) 142(lLE FEM 14.6(2K 1&8H(1) 14.9
EERH EEg EERH MABEH EERG A gEH = KAESR
10/03 ;ﬁgf% A Htk(1) 293[t  EH() 303[kE BB 34.1
=i Ak IS L
10/03 ]%ﬁf I P NE)) 5:10.1 [JIIEF ZR3E®) 5:16.7[#2fE KZ(1) 5:174[HF ®WEQ0) 5:189|RKR FXEX) 5:21.6|F L M)  5:324|KF EEQ) 5:38.8|f87T &iE(1) 5:39.2
=t /AR A gEH =fieh A gEH = BREF b AR
10/03 ;(T)(i% W B 10195 UK ER() 10426
IR INPRER
10/03 ];ﬁff kF#F AR 15.2
IR
10/03 |25 F BN #EER  t9|mt RAQ 125\ BERO 126\p% BEQ 126K Bhe)  27|2k =M@ 27|EB EHQ 27|48 SEQ 14.7
ER¥F e =farp =N =farp Ik =EH BEH S L
10/03 g(ﬁf% #O BAQ 245|SRIRFHAC  205|IIEEEhQ) 304
=t KAZEH #&/\#kep
10/03 f;i% B ®EQ) 4:326|)i% HEQ) 4:48.1|3 8 FRL(2) 4505(5F HiEQ@) 453.3| THE HX©) 4553(&ME BiEE©2)  4:558|FE EXQ 5:01.7[3RA IEHE©2) 5:05.9
IS L /e #E BREF b E Vika =N INPRER EREF b
10/03 g;*;(%f i B2  10150[T H£H(Q2) 10243|HB #HFRQ)  11:06.6
#HET EEG =Heh
10/03 ff‘;?j NETEEH?  168|HLE KEQ 176|E% Q) 18.0
=t INPRER IR
10/03 iﬁ(ﬁ%% &= shK@) 1:00.0| KL #:58(2) 1:01.0|hAIFFEER)  1:01.2[;E 1EERQ) 1:02.1
IR /DR IR =feh
10/03 [ZSEAF T M@ 2210|RI BHQ)  2273|Kk% =) 2325\ LRE B2 2428|H4 HIEQ)  2526|H{R WIB() 2554\ KEE #£0) 2575
BFHRG #E P FH /R B FH /R FH /R /e
10/03 i%ﬁg =fadh 47.7|/hkep 478| @R 49 8|8REF 52.1| A& 53.1 |7k A 56.3
T ERQ) #m 5hK(2) st =) (11] 5 p=3:7::(0) £l —31) 2R 1&H0)
INEFEEERQ) XF HARQA) 2K =i2) LIl #hEE(2) Mrmomaa) AR 1&5EQ2)
Rt R=EQ) HE REEQ2) FH BEXO) ¥ BEEQ) £ E#&©0) KFE EK(Q2)
EO BAQ) =X REQ) 55 H%Q@ IRA IEH2) B REEQ2) S RIRFEEAER(2)
10/03 ;gﬁf NI #EX@ 1m45| &  EXQ) 1m25|FH EAQ2) 1m25
IR INPRER /NP
10/03 ;gﬁ% L RIFFZEER(2) 2m30[iE & K2 2m20| 2K WEO) 2m00
IR INFRER IR
10/03 ;Eﬁf I BEQ) 5mi15|Eim #AQ2) 4m83|&IL  E(2) 4m28|RIKFREEKR(2) 4m24
i IR /A IS L INPRER
10/03 [iER2F BA 50  mu|MB REQ  ImS4|HHE BEQ  6mI6lLM EEQ  emI5[IRT BWE1)  4m67|HABZAM  4md7|LT B|AD)  4m38|T B—ED  4m20
T/ R MR =t BREF b =fch A gEH =fieh A gEH




Fopf#EnR P AEMERTRS

. -, sl — E[_—
#H:20184E10A3H & %7;&]1# =
BRI TREESAREE GBS
A8 | fEd=] JE: 14 203 3fiL Jxive 5L 613 741 | 843
warA LY 345| = i 2055 |B /e 1355 [0 A Bk ch 8| B R 75| 628 | SR % 38 BRP e
(+59%) =i 1955 | hhep 1755 | Bk 8K | MMA B 18| B RS 75| 65| SR % 38 BRP e
S /IR 17 & [FE /D 55 =g 1E[MAES 15 [




SE42[m] 7

#1H:2018410H3H

EMRPAEMERT RS

TTRBE—E

BRGNS EE SN ERE RS
AR #H B 13 214 3tk 4t 5% 613 711 8L
10/03 | 1FEF BrERED) 142 KEOAYD)  147|WE k() 152|lLE A 153\ EBGO)  158|mEEBW) le2|EREAE()  t64|Eh BEMD 165
LS L EEG A gEH BREF b A gEH #A%F b =fch =fieh
10/03 ;ﬁ‘gf% AL ER T 206|WFFIZR() 31.8|RA BR(1) 326|551 BEQ) 32.6
ke =farh T/t eh /e
10/03 |3 -5 F ERSCH() 2334I @EE()  2300|MIE WB() 243088 BAN)  2439|BALEFSD)  2460|MF B 25245 2E)  3213EE @R 3325
#E BREF b &+ Ik BEEd MR =ep BAH
10/03 |2 5F BE 2F02)  40|ELBEEQ  40\LZOBBER)  143|EE 2O 1s|md tEQ  149|EE #HQ 156|EREAZ(Q 162
IR EEE /e EEE =N B BFHRG
10/03 g;*;f% FE ®WEQ 289 LA ZiE(2) 299[1E4 F=H(2) 304k KAQ@ 343
Y FRr+$ FRF ¥
10/03 gﬁ‘gf% KEVEDQ) 2297\ hiE BEEQ) 2:32.1 | KRJINEAEEQ)  2:36.3|NE FEZX(Q2) 3:03.2|3k FEH©2) 3:10.6
#E EEE IR BREF b kAZEGH
10/03 fﬁfj ®#E BKQ) 1638 Z%Q 177|@A Fi4xQ) 1838
IR /e FH/\ERep
10/03 ﬁé%f% ZKREEQ  5000(HF Fim©@) 5:00.6ith/ EERE(2 536.8|HEK ZETEQ2) 5:38.7|BEERUMY(2) 6:39.1
i IR IR FH /R BREF b VS L
10/03 i%ﬁg INFR R 54.0| T/ AR 55.9| &R 56.6 |8R 7 th 57.1| %R 5 58.5| =#Arh 1:00.8 |5k AiE 1:03.0
FE BEQ2 SHIHETH(2) =y R=10) HwALEART) ERFEXRZRQ) WRRIZER) RRFITHEEQ)
“iE BIKQ) iz OZ4(2) ArHEE(Q) AR i@ ¥ #HQ He £iEQ2) Bk FREEQ)
BE ZF2) B4 Fikk(2) KEUVMYA) WA HriEa) B E=x2) BEREATEW AERUMYQ?)
ZRORKQ) B =X HIE BE2) TR _ERE2) LH ZE#EQ2 B #Ex0) w2 RERIEA)
10/03 i‘%ﬁ* INE B Im25|E BE()  Im20|3IIEEEF( 1mo0
i FH /R Ak FH /R
10/03 i%ﬁ% MR L£iEQ2) 4m30(#AE FE(2) Am14| SHIHETH(2) 3mIs( T EFL2) 3m96 | RFt & & k(2) 3m82| &L () 3m57
& IR F /R BREF b F /R #A% b
10/03 %‘Eg% ZIR KEQ2) Im29|FHE EZ(1) 6m04| KIECZA(2) 4m95
IR =farp EREF b
ReEBa VR 233 [T/ AT 134 [fR %t 108 |SE G 15 | fRE T 6a| = 4m [k AZES 3& | MAFESD 3
(k799 IR 188 [FE/ Mk ISR 15 | BREF e 6 5 | #REE o 65 | KA 3| FH A 3| =Hich 25
(Z4=I) VR 58 [/ 55 | BREF 45| = 25 A gD 25




	w1.pdf
	m1

